FURNITURE LEISURE INC

www.FurniturelLeisure.com
www.PicnicFurniture.com

www.PoolFurnitureSupply.com
www.PicnicTableSupplier.com

1.800.213.2401 www.ParkTables.com www.UBrace.com
-9 1/2° 1 — ITEM NO. 1
S e
o~ o 3
[o3ge) ()
o0 o0
026949 0920g¢
DOOOOO OOO O OOOOOO
: O_0_~0 OO0, 0~C O-0-0 [TEM NO. 5
21 OOO ‘)OOOOOOO OOOOO 18"
O_0_O0_0O_« O
OO0 0_0
O OO0 ¢
OOOOOOOO
0596959 Q]
/ OOO
3/8"-16 BOLT & FLAT WASHER
|10 1/2" —] 4 ITEM NO. 2 U{IDER BENCH TOP [TEM NO. 3 & 4
TOP VIEW BENCH USE 9/16" OPEN END WRENCH SIDE VIEW BENCH END
. 10 5/8°
2 1/2 0z |
( b0%0%0%60%0%6%0%0%0%0%0%0%0%0%0%0%0%0%94 j i :
f .| !
T EM NO. 2 5
A 1R 10 1/2°
» 1
10 2n 12 3/4 E
] !
o SIDE VIEW BENCH o !
13"

WT. 220# COMPLETE

3/8°-13 INSERTS CAST IN

TOP VIEW BENCH END

13
1 CAST CONCRETE LEG UNITS 2
These drawings, speifications and the other information and documents
accompunying thern are the confidential and proprietary property of Wausau Tile, 2 MHéL_FORM BENC,’,‘ T0F 1
Inc. The drawings themselves shall belong to the owner for use only on this project. S 3 3/ 8_‘13 X 1 1/2" HEX. HEAD BOLTS 4
Any additional use shall require the prior written approval of Wausau Tile, Inc.  The - 3/8" INSERTS, NOT INTENDED 4 3/8" FLAT WASHERS 4
proprietary information contained within the drawings and the documents is and shall FOR ANCHORS 5 3/8"-13 UNC_THREADED INSERTS CAST IN 12
remain the sole property of Wausau Tile, Inc. l—=~¢ 6
BOTTOM VIEW BENCH END
REVISIONS
NO. DATE BY LOCATION
1
5 DRAWN BY RUH JOB NO.
3 SITE—FURNISHINGS TF5024 [ ipwssel 2 1008
4 NTS " 998-11-187




